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# Python Script, API Version = V18
##2 THPORT DATA FROM .TXT"|

import csv

import os.path

with open(r' \WoodBlock\Ndimensions. txt') as csvfile:
readCsV=csv.reader(csvfile, delimiter="1t")

names=[]

Fuidths=[]

Fxposts=[]
Fyposts=[]

#or row in readCsV:
if (row[e]==""):
#side=int(row[1])
Fwidth=int(row[2])
#height=int(row[3])
Frpos=int(row[4])
#ypos=int{rou[5])

fsides.append(fside)

fwidths.append(fwidth)

#heights.append(faeight]

fxposts.append(fxpos)

#yposts.append(fypos)
else:

name = rou[a]

width = int{row[1])

length = int{row[2])

height = int{row[3])

names.append(nams)
widths.append(width)
lengths.append(length)
heights.append(height)

print(*Names: ' names)
print('widths: ' widths)
print("Lengths: *,lengths)
print('Heights: ' heights)
print(*\n*)
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# Python Script, API Version = V18
##2 THPORT DATA FROM .TXT"|

import csv

import os.path

with open(r' \WoodBlock\Ndimensions. txt') as csvfile:
readCsV=csv.reader(csvfile, delimiter="1t")

names=[]

Fuidths=[]

Fxposts=[]
Fyposts=[]

#or row in readCsV:
if (row[e]==""):
#side=int(row[1])
Fwidth=int(row[2])
#height=int(row[3])
Frpos=int(row[4])
#ypos=int{rou[5])

fsides.append(fside)

fwidths.append(fwidth)

#heights.append(faeight]

fxposts.append(fxpos)

#yposts.append(fypos)
else:

name = rou[a]

width = int{row[1])

length = int{row[2])

height = int{row[3])

names.append(nams)
widths.append(width)
lengths.append(length)
heights.append(height)

print(*Names: ' names)
print('widths: ' widths)
print("Lengths: *,lengths)
print('Heights: ' heights)
print(*\n*)
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# Python Script, API Version = V18
##2 THPORT DATA FROM .TXT"|

import csv

import os.path

with open(r' \WoodBlock\Ndimensions. txt') as csvfile:
readCsv=csv.reader(csvfile, delimiter="\t")

names=[]

Fuidths=[]

Fxposts=[]
Fyposts=[]

#or row in readCsV:
if (row[e]==""):
#side=int(row[1])
Fwidth=int(row[2])
#height=int(row[3])
Frpos=int(row[4])
#ypos=int{rou[5])

fsides.append(fside)

fwidths.append(fwidth)

#heights.append(faeight]

fxposts.append(fxpos)
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name = rou[a]
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length = int{row[2])

height = int{row[3])

names.append(nams)
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lengths.append(length)
heights.append(height)

print(*Names: ' names)
print('widths: ' widths)
print("Lengths: *,lengths)
print('Heights: ' heights)
print(*\n*)
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# Python Script, API Version = V18

##2 THPORT DATA FROM .TXT"|
import csv
import os.path

with open(r' \WoodBlock\Ndimensions. txt') as csvfile:
readCsV=csv.reader(csvfile, delimiter="1t")

names=[]
widths=[]

lengths=[]
heignts=[]

Fsides=[]
Fuidths=[]
Fheights=[]
Fxposts=[]
Fyposts=[]

#or row in readCsV:
if (row[e]==""):

Fwidth=int(row[2])
#height=int(row[3])
Frpos=int(row[4])
#ypos=int{rou[5])

fsides.append(fside)

fwidths.append(fwidth)

#heights.append(faeight]

fxposts.append(fxpos)

#yposts.append(fypos)
else:

name = rou[a]

width = int{row[1])

length = int{row[2])

height = int{row[3])

names.append(nams)
widths.append{width)
lengths.append(length)
heights.append(height)

print(*Names: ' names)
print('widths: ' widths)
print(*Lengths: *,lengths)
print('Heights: ' heights)
print(*\n*)
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# Python Script, API Version = V18

#2# IMPORT DATA FROM .TXT"|

import csv
import os.path

with open(r' \WoodBlock\Ndimensions. txt') as csvfile:
readCsV=csv.reader(csvfile, delimiter="1t")

names=[]
widths=[]

lengths=[]
heignts=[]

Fsides=[]
Fuidths=[]
Fheights=[]
Fxposts=[]
Fyposts=[]

For row in readCSV;

.‘)“

#ypos=int(rou[5])

fsides.append(fside)

fwidths.append(fwidth)

#heights.append(faeight]

fxposts.append(fxpos)

#yposts.append(fypos)
else:

name = rou[8]

width = int{row[1])

length = int{row[2])

height = int{row[3])

names.append(nams)
widths.append(width)
lengths.append(length)
heights.append(height)

print(*Names: ' names)
print('widths: ' widths)
print("Lengths: *,lengths)
print('Heights: ' heights)
print(*\n*)

Grundlaster
Vagglaster
Bjalklagsmoment
Pelarlaster
Deformationer
Osv...

C: Static Structural
Total Deformation
Type: Total Deformation

Unit: mm
Time: 1

2020-01-16 09:31

2,6534
23586
2,0637
1,7689
14741
1,1793
0,88446
0,58964
029482
0 Min
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